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1. White 2,415ml ox litres in decimal form omd multiply by
[al 9 () 12 (e} 16 () 27 &) 3B al B8]
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2. Chn-ngt T.296m1 1o litres and disvide h':i:
[y 12 fed 1%

.ia E.HE E ﬂ E These are the prices chorged im o new |uice beair,

Each drink comtaing S00mL
Wark out the price for each mizture.
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50c per 100l 250ml —_—

B0c per 100ml —

45 poer 1001 —

B¢ per 100l 125ml

LT per 1001 . _

ﬁ'llﬂﬂt Tae per 100l

Tokal cost of drinks: & [ L g €

Crtate cnd £o38 your own Truit paice of S00mI From the obee pati and prices, Make thiee i total

A, botele ol olive ofl Bolds 250m There were 13 of tbere besgles sracked on a shell Seoen of thien
wirre knocked off and got broden. Hew much olive oil stogeber was Ieft on the shell? |

- Circle the biggest velume In eoch group

(a) 720l O7I Rl | ) 1381 1,400ml VyErl |t
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() 45ml 0054l ol | (e} 9700ml 9&1 90251 | 0 83n 8d1  soes

7hl 7030m 72m

Maths Foct I ol the water in the world could fit imo a fowr-litre jug, the fresh woter svoidoble
would amount E6 uit oné toblespodn. Haw mamy libres al water would be
needid 10 produce 10 tablespeond af fresh wote i
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1. Drewr the Line of symmitny —: 1. 45386 - 4,000 =
D i Shags 458 ¥ ":L

212583417 =
- Eownd 42 to the nesreas
1. What i the thind composie ember? whele numkr, |

i What fraction . Wiach of thets i o muliphe of T
of the drcle 16, 20, 8, 347

is shoded® i et

5. By hew deqresi is 20 shape
12°C .u::’m?-..-rc? ==

Gircle negetine 3 on the number line
b. Crace can tycls i e I T B e e
T in & sinutel
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. This &5 chi sery od
7. Firel thee whole number # 30% = 36, &

B. Dverw chie net of & cubi l’iﬂmﬂ-ﬂd-h'l:fm.:lllntrl.-q ;
with the imalienl. o, 423, 47

» B foce reyrih
. fum S0 clackaing,
A What i 400 of 3007 I o row Toping

11, How mong degrees are there
T What i the value
of angle ¥7 s W beeiween north ond south?

12, Froen sinathi, | gﬁ"lﬂ' antitlocbmiar
N Dol oen

13, T5% el 358w

“'wr“*““w" e 1%, A rectangle 32cm long hov o perimeier
i, 7B+ 10 = of Qe Wit iz iy width?

i5 11¥a 1%, W is o area of the reoangle?

1. 'fi'rhrﬂ a5 o Secimal froctaan.
12 B0 =20 =

B William iy Im &5om (il
Leah & S0cm smoller than Willam.
How 1all is Leah?

12 A meeting started an F30pm.
It beepdl dpr 2 howes 45 minates,
At what tme did the meeting end?

18. Sharen wet atked 1o multiphy 2-43 by 73, ; T
Instesd she mutiphed 2-43 by 32 .'mur:u“-m-'m:m-;;ﬂrﬂm B
B!""?";"""""""‘“""”"'-‘*" M i coity €10 per meter, bow much
R wosld & coit for the reom?
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Pdewy prkce =
‘Werine 2008 as a feoctan

Wk -2 ol angle is mode
By the Eards of & ok ssinting
ot PR ook

14+ D39 =

Epainad &8 o the reanest
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WiTugt [ the third angls?
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. W5 o the childegs in @ pchosl are boys
¥ ghgre e S0 childeds b e Dol
Buriy sredfiy are Girles

. A programene srerced < (I

I losted for Top howr

Al witagt ime gidl i eeadT : = i
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Hibey dicmier of @ circlle @ BHem,
what i the eoden?

Skm 3BAm + S Hem =

Find the averege ol these mambers
B 91,49, 12, 8

Héra moany degrae =
= holeer G B

I o comsodner of OO0 opples,
&H of them were bad
Wict decimod of them swre bad?

What sumber da you think
eould meperient the lrmer GF

il Michael evievrd the B8 on brard 3 o
wart dowm Ewe beevwli, than Bock up oned,
wituch Moeor would i B+ onr

Horw many floon eoe thare
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T Loy i 3
A dirmeir dith Sad peotia egqui o & Sad Bainne
Tar é an dinnéir dhéach sied ar scansdn

gnln;lnru'l-.m;lr

fn Asene a bhi gen
B MMamal agus Dhesidi ag dul g dif dxtdn
deas Tooin tuath.

Bhi Aintin Zoe og tabhairt aire do no pdistl

Ina dhicidh sin chsaigh tiad go dei an phdie
Chaith sied cople wair an chioig enn

Bké siod g luazcodh or na looscdin, aq rothafochi
aqus g4 imirt peite

D¢ Sothaim rinne Aintin Zoe poncdga don
biricfeaste. Bhi siad anbhicsta

Chugigh siad abhaile nerseach iraocka
Chugigh siod go dei an leebo or o hecht o dhlog go sona sdwa

| €8 raibk Mamal egai Daldi ag dul?
(Where were Mamey end Daddy geing 7

7 C# o bkl og woebhaint aire do no poist?
(W wos minsing ohe civildnme?f

n F

' Th-:bmu] Mcemai Ggus Daidi ahhaile
§ Dé Damhnaigh ar a dé o chlog.

3 Céard o rinng Aintin Zoe dom bhricfeasta? S—
[What did Aunty Jor make for beeaiiont 71 | T

4 Cd mdeschaigh Alntin Zos ages na paistl B Satheim? o tablain aire da taking covr of
{Whire did Aunty Zor ead the chidren go on Satuvdag? posddgqa poidi b

5 An ndeachasgh Alntin Zor go dtl en leobo o o hadht a chlog?
(D%l Aty Joe go to bed ot 8 ook ?)
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Bhi an chlann og fenacht mn dstdn don deireadh seachone.

Chuaigh sied sios steighne go dii om Bhiokonn don Bhricheasto

Bhi gach saghas bia ann,

Bk bda te cosdil le slisied, I:-pl-nl, uibheacha agus anﬁgp i

Bhi bia fuar cosdil Le torthal, idgant, grénach, cdis agus toosrdin ann.

Lign siad er fod o bpldced aqus shuigh siad sios chun on bricfessa o ithe,
Bhi siod lin sgus sone sdste | ndiaidh an bheicfeesta,

T reiibh an chlemn? [Where war the family 7}

Eﬁndudui;h slad? ﬂmﬂlﬂq Fﬂ"] m
Ciin taghai bia te o bhi annd (What bind of hat faad wai phene]

Cén saghas bia feor o b ann? (Whar kind of cold food was there?] e slisied racheny
An raibh slod bn | ndicidh an bhricfratta? (Were they full after Brookiae ) m""’" m"""
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